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1. The sources of the rules of homoeopathic pharmacy are all except  ________. 
 

(a) Essay on  a new principle for ascertaining the curative powers of drug, organon 

of medicine 

(b) The wonderful  construction of human hand 

(c)  Chronic diseases (part I to IV), Materia Medica Pura     

(d) On the value of speculative systems of medicine 

 

2. Alcohol is a powerful preserver of plants and animals tissue at _______ strength. 
 

(a) 90%   

(b) 70%  

(c) 80%  

(d) 95% 

 

3.  “Agit. A. us” is the abbreviation of _____. 
 

(a) Though shake 

(b) Shake as required 

(c) Shake before using 

(d) All of the above 

 

4. According to Hahnemann how long the power of globule remains undiminished and 

used      for olfaction if kept away from sunlight? 
 

(a) 1-5 yrs 

(b) 6-8yrs  

(c) 18-20yrs 

(d) 5-10yrs 

 

5. Aversion  to meat belong to which miasm? 
 

(a) Tubercular   

(b) Sycosis   

(c) Syphillis  

(d) All of the above 

 

6. Boenninghausen is praised by Hahnemann for choice of suitable homoeopathic 

remedies for various epidemics of fever is in section _________of Organon of Medicine. 
 

(a) 236   

(b) FNS 238   

(c) FNS 236   

(d) FNS 235 
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7. Regarding diseases which is wrong? 

(1) Disease is the dynamic alteration of V.F.   

(2) Symptoms are the expression of the disease   

(3) Symptoms are the essence of the disease   

(4) V.F. is autocratic in disease. 

(a) 1,2,3   

(b) 3  

(c) 2,4   

(d) 3,4 

 

8. (1)  The curves and lines of chest are imperfect. The chest is often narrow, lacking not 

only in width laterally, but in depth antero-posteriorly, the subclavicular spaces are 

hollow, or certain areas sunken or depressed. 

(2)  Craves potatoes, meat and many reject the fat  

(3)  Better of mental symptoms by an outbreak of an ulcer   

(4)  Child smells musty-mouldy. 
 

Which of the above symptom included in tubercular miasm? 

(a) 1,2,4  

(b) 1,2  

(c) 3,4  

(d) 1,2,3,4 

 

9. Match A and B  

       A                                              B 

1. Psora                5. Bones of nose are destroyed 

2. Syphilis            6. Desire for tea, coffee, tobacco, wines, hot aromatic things 

3. Tubercular      7. Hunger with weak all gone sensation before eating  

4. Sycosis             8. A child worse by eating and is relieved by lying on stomach 

 

(a) 1-7, 2-5, 3-6, 4-8 

(b) 1-8, 2-7, 3-6, 4-5 

(c) 1-5, 2-7, 3-6, 4-8 

(d) 1-6, 2-5, 3-7, 4-8 

 

10. ______ in Homoeopathy denotes the identification and determination of the 

individuality of the patient & assessing his singularity in contrast to other patients 

suffering from the same disease from the medical history of the patient. 
 

(a) Individuality 

(b) Diagnosis 

(c) Anamnesis 

(d) All of the above 

 

 



 

A-3 

 

11. Moon phase is found in which Repertory ? 

(a) Boger-Boenninghausen’s Repertory 

(b) BTPB 

(c) Boger’s Synoptic key 

(d) Kent Repertory 
 

12. Boger has divided the preface into ___ parts which are considered as Boger’s 

contribution to repertory ? 

(a) 3 

(b) 5 

(c) 2 

(d) 4 
 

13. A patient examined by an ophthalmologist has been diagnosed with haemorrhage into 

the vitreous chamber, which is non-inflammatory in character. Which of the following 

medicines do you recommend for the absorption of blood ? 

(a) Led Pal 

(b) Lach 

(c) Millefolium 

(d) Crotalus 
 

14. A female patient aged around 30 years complaints of a lot of suffering during her two 

pregnancies, especially morning sickness; on further enquiry she revealed of pain in 

abdominal ring, as if something were forced through; as also abdominal muscles weak 

as if a hernia would take place. Which medicine do you recommend ? 

(a) Tabacum 

(b) Acet. Ac. 

(c) Cocc. 

(d) Lac. Ac. 
 

15. A female patient had had a fall two years back. Now the patient complaints that below 

two clavicles and under left breast she feels as if wet clothes were applied whenever she 

goes out of doors. Which of the following medicines is most suitable to this patient ? 

(a) Acon. 

(b) Ran. B. 

(c) Hep. S. 

(d) Rhus Tox. 
 

16. Which of the following medicines is recommended for headache in a cachectic patient 

with red face, nausea and vomiting before, during and after menstruation ? 

(a) Nat. Mur. 

(b) Sec. C. 

(c) Sarsaparilla 

(d) Tuberculinum 
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17. A middle aged male patient complains of chronic dry, barking cough which abates after 

eating and drinking, especially warm drinks. The patient also complains of surging of 

heart into chest, as if it would force out upward. 

(a) Dig. 

(b) Coca 

(c) Spongia 

(d) Tabacum 

 

18. Commonly indicated medicines acute viral fevers are Aconite, Gelsemium, Eupatorium 

Perf., Rhus Tox. Ocimum Sanctum etc. Which of the following pairs lacks a perfect 

similimum ? 

(a) Acon. – cold waves pass through him, thirst and restlessness always present. 

(b) Gelsemium – Wants to be held, he shakes so; thirstless, excessive weakness, 

stupor, dizziness, faintness and thirstless. 

(c) Eup. Perf. – Aching in every bone, great prostration 

(d) Ocimum Sanctum – Fever with cough, acute pains in body; bone pains; soreness 

of muscles and terrible headache 

 

19. A patient is presenting with neuralgic pain, commencing in the temporal region, with 

scalding lachrymation of affected side. The same patient also has headache from 

overwork. Medicine indicated is – 

(a) Cimicifuga 

(b) Puls. 

(c) Kalmia 

(d) Arg. Nit. 

 

20. Mention the medicine best suited to a person in whom intellectual faculty is prominent, 

suffering from sciatica; pain agg. When straightening out limb, during rest from previous 

exercise. Which of the medicines is indicated? 

(a) Bell. 

(b) Rhus Tox. 

(c) Tarantula 

(d) Valeriana 

 

21. Match the list I with II and select the correct answer using the code given below: 

A. Scrawny, thin                             1. Bell 

B. Full blooded, plethoric             2. Ver. V 

C. Plethoric constitution               3. Ignatia 

D. Sensitive, easily excited            4. Sec. Cor. 

 

(a) A-4, B-1, C-3, D-2 

(b) A-4, B-3, C- 2, D-1 

(c) A-4, B-2, C-3, D-1 

(d) A-4, B-2, C-1, D-3 
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22. Which of the following is an incorrect match? 

A. Weakness follows vomiting causing drowsiness               1. Ver. Alb. 

B. Vomiting excessive with nausea and great prostration   2. Colch. 

C. Vomoting on least motion with faintness                           3. Aethusa C. 

D. Nausea and faintness from odors, bad effects                   4. Bry. 

From night watching     
     

(a) A – 3 

(b) B – 2  

(c) C – 4 

(d) D – 2 

 

23. Which of the following statements is false? 
 

(a) Attacks of colic in Aloe Soc. Is preceded by obstinate constipation 

(b) Platina is not indicated in obstinate constipation after Nux has failed 

(c) Plumbum is indicated in obstructed evacuation from indurated feces 

(d) Psorinum is indicated in constipation from inactivity of rectum  

  

24. Periodicity of medicines are very important characteristic symptom of homoeopathic 

medicines. Find from below the false statement about periodicity of medicines ? 
 

(a) Supra-orbital neuralgia, periodic. – Cedron 

(b) Symptoms return at same time every year. – Urtica Urens 

(c) Feeling of stone in rectum at same hour daily. – Ruta  

(d) Periodicity is most marked. – Cinchona 

 

25. A mother comes with her girl child with a non-healing ear lobe after piercing the ear. 

Which of the medicines is indicated ? 
 

(a) Stannum Met. 

(b) Led Pal.  

(c) Calendula 

(d) Hypericum 

 

26. A patient has been diagnosed to be suffering from Malaria. The paroxysm of fever are 

associated with a finding that the patient wants covering in chill and heat stage, also 

remain covered in heat stage. The patient feels chilly when moves or uncovers. Which of 

the medicines is most suitable ? 
 

(a) Nux vom 

(b) Chin Sulph. 

(c) Ars Alb. 

(d) Bryonia 
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27. A patient complains of suffering from urticaria from childhood. After a period of 20 

years of suffering from his usual urticaria, he now suffers from attacks like croup. Which 

of the following medicines do you consider ? 

(a) Hep Sul 

(b) Spong. 

(c) Ars. Alb. 

(d) Rhus Tox. 
 

28. Tetralogy of Fallot consists of Ventricular septal defect, Pulmonary stenosis, Right 

ventricular  hypertrophy and Aorta overriding the ventricular septum. 

Severity of the disease depends greatly on the degree of – 

(a) Ventricular septal defect  

(b) Right ventricular hypertrophy 

(c) Pulmonary stenosis 

(d) Aorta overriding the ventricular septum 
 

29. Which of the following methods is best to elicit the murmur of Aortic regurgitation ? 

(a) After exercise, left lateral recumbent position 

(b) After exercise when standing 

(c) Patient leaning forward, breath held in in expiration 

(d) Use stethoscope diaphragm, during inspiration 
 

30. Kaposi’s sarcoma arises from which of the following tissues 

(a) Muscular 

(b) Vascular 

(c) Neural  

(d) Lymphoid 
 

31. Which of the following about Anemia of chronic disease is true ? 

(a) Deficiency of erythropoietin 

(b) Chronic inflammation 

(c) Cytokine driven inhibition of red cell production  

(d) None of the above 
 

32. In a peripheral smear granules of siderocytes containing iron is found. Which of the 

following is false ? 

(a) Post-splenectomy 

(b) Lead poisoning  

(c) Sideroblastic anemia 

(d) Carcinomatosis 
 

33. Which of the following is false about complete remission in  Acute myeloid leukemia ? 

(a) Neutrophil count ≥ 1500/µl, platelet count ≥  1,00,000/µl          

(b) Bone marrow cellularity should be >20% with trilinage maturation 

(c) Bone marrow should contain < 5% blasts and Auer rods should be absent. 

(d) Correction in Hb concentration and Hematocrit 
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34. Which of the following is not an invariable accompaniment of Meningitis? 

(a) Nuchal rigidity 

(b) Headache 

(c) Photophobia 

(d) Fever 
 

35. The commonest type of thyroid malignancy is  

(a) Medullary thyroid carcinoma 

(b) Follicular thyroid carcinoma 

(c) Anaplastic thyroid carcinoma 

(d) Papillary thyroid carcinoma 
 

36. Which of the following finding is consistent with Osteopenia 

(a) T score ≥ -1.0 

(b) T score -1.0 ˗  -2.5 

(c) T score < -2.5 

(d) T score < -2.5 with a fracture  
 

37. A patient presenting with type 1 respiratory failure. Which of the following conditions 

you can rule out ? 

(a) Pulmonary edema  

(b) Fibrosing alveolitis 

(c) Pneumonia 

(d) COPD 
 

38. A patient presenting with fibrotic shadow in lower zone of lungs. Which of the following 

is the most probable diagnosis ? 

(a) Extrinsic allergic alveolitis 

(b) Progressive massive fibrosis 

(c) Ankylosing spondylitis  

(d) Asbestosis 
 

39. A patient presenting with short metacarpals(esp. 4
th

 and 5
th

), round face, short stature, 

low Ca
2+

, high PTH normal or increased Alkaline phosphatise. The patient is suffering 

from – 

(a) Primary hypoparathyroidism 

(b) Secondary  hypoparathyroidism 

(c) Pseudo hypoparathyroidism 

(d) Pseudopseudo hypoparathyroidism 
 

40. Which of the following is true about an acute attack of Bronchial asthma ? 

(a) PaO2 increased, PaCO2 decreased         

(b) PaO2 decreased, PaCO2 increased 

(c) PaO2 normal, PaCO2 increased         

(d) PaO2 slightly decreased, PaCO2 low 
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41. What about Nephrotic syndrome is false ? 

(a) Na
+
 retention in extracellular space 

(b) Plasma oncotic pressure is reduced 

(c) Hypertension or normotension 

(d) Proteinuria > 3gm /24 hr. 
 

42. All of the following are considered in differential diagnosis of thunderclap headache 

except – 

(a) Phaeochromocytoma  

(b) Cervico-cephalic arterial dissection 

(c) Cerebral venous thrombosis 

(d) Capillary telangiectasias 
 

43. Which of the following can precede the classic motor features of Parkinson’s disease? 

(a) Constipation and anosmia 

(b) Mood disorders 

(c) REM behaviour sleep disorder 

(d) Cardiac denervation 
 

44. Classifying a neuropathy as being due to axonal degeneration or segmental 

demyelination is best diagnosed by  

(a) Nerve biopsy 

(b) Lumbar puncture 

(c) Nerve conduction studies 

(d) Skin biopsies 
 

45. Which of the following practice is not advocated in prevention of Gout ? 

(a) Lose weight  

(b) Prolonged fast      

(c) Avoid alcohol excess 

(d)  Low dose Aspirin 
 

46.  Which of the following is excluded from being in the high-risk population for HCV  

infection screening is recommended? 

(a) Persons born between 1945 and 1965 

(b) Transfusion or transplantation recipients prior to July 1992 

(c) Hemophiliacs treated with clotting factor concentrates prior to 1987 

(d) None of the above 
 

47. Which of the following is not reactive lymphadenopathy ? 

(a) Eczema 

(b) Toxoplasmosis 

(c) Lipidoses 

(d) Connective tissue disease 
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48. Winging of scapula is due to paralysis of  

(a) Latissimus dorsi 

(b) Pectoralis major 

(c) Pectoralis minor 

(d) Serratus anterior 

 

49. Bone with no muscle attachment is – 

(a) Talus 

(b) Navicular 

(c) Calcaneum 

(d) Cuboid 

 

50. Which of the following is the principal site of Na absorption  

(a) PCT 

(b) DCT 

(c) Thick ascending limb of loop of Henle 

(d) Collecting duct 

 

51. Surfactant is secreted by  

(a) Type I alveolar epithelial cells 

(b) Type II alveolar epithelial cells 

(c) Dust cells 

(d) APUD cells 

 

52. Neurotransmitter involved in nigrostriatal pathway – 

(a) Serotonin 

(b)Dopamine  

(c) Cholinergic 

(d) Adrenergic 

 

53. In a chronic alcoholic all the following are seen in the liver except 

(a) Fatty degeneration 

(b) Chronic hepatitis 

(c) Granuloma formation 

(d) Cholestatic hepatitis 

 

54. Sure sign of malignancy is  

(a) Mitosis 

(b) Polychromasia 

(c) Nuclear polymorphism 

(d) Metastasis  
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55. Most common site of Carcinoid tumour is   

(a) Stomach 

(b) Jejunum 

(c) Ileum 

(d) equal incidence at all sites 

 

56. Distressing complication after modified radical mastectomy is  

(a) Lymphedema 

(b) Axillary vein thrombosis 

(c) Seroma 

(d) Death 

 

57. Laparoscopic cholecystectomy is largely preferred for all of the following reasons to 

conventional laparotomy except  

(a) Decrease pain 

(b) Decreased incidence of bile duct injuries  

(c) Smaller scar 

(d) Decreased stay in hospital 

 

58. A neonate presents with colicky pain and vomiting with sausage shaped lump in the 

abdomen is suffering from – 

(a) Enterocolitis 

(b) Perforation of abdomen 

(c) Intussusception 

(d) Acute appendicitis 

 

59. All of the following are true statements about Meckel’s Diverticulum except  

(a) Occurs in 2% of population 

(b) Diarrhoea is very common 

(c) Contains ectopic gastric tissue 

(d) Common on anti-mesenteric border 

 

60. Human placenta is best described as 

(a) Discoidal  

(b) Hemochorial 

(c) Deciduate 

(d) All of the above  

 

61. Lochia in correct order : during puerperium 

(a) Rubra, serosa, alba 

(b) Serosa, Rubra, Alba 

(c) Alba, serosa, rubra 

(d) Alba, mucosa, serosa 
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62. Contraceptive method of choice in lactation  

(a) Barrier method 

(b) Progesterone only pill 

(c) Oral contraceptive pill 

(d) Lactational amenorrhoea 

 

63. Most common congenital abnormality of uterus is  

(a) Uterus diadelphys 

(b) Arcuate 

(c) Unicornuate 

(d) Septate 

 

64. Penicillin eye-drops given to the newborn of a mother suffering from Gonorrhoea is a 

___ type of prophylaxis. 

(a) Primary chemoprophylaxis 

(b) Secondary chemoprophylaxis 

(c) Chemoprevention 

(d) Not recommended 

 

65. In Pasteurization process the milk is heated and then what is done ? 

(a) Milk is to be rapidly cooled & bottled as soon as possible 

(b) Milk is to be cooled slowly and bottled 

(c) Milk is to be bottled no need to be cool 

(d) Milk has to be cooled upto 10 – 15
0
 C and then bottled. 

 

66. Diseases transmitted by lice is ______ . 

(a) Epidemic typhus 

(b) Relapsing fever 

(c) Trench Fever 

(d) All of the above 

 

67. MMR vaccine is given to a child of ____ age ? 

(a) 9 month  

(b) 12 month 

(c) Both 

(d) Any  age 

 

68. Components of PPTCT programme are all except – 

(a) For HIV negative pregnant women 

(b) For HIV positive pregnant women 

(c) For HIV exposed infant 

(d) For HIV positive parents 
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69. Mop-up immunization done for ______ disease. 

(a) Dengue 

(b) Encephalitis 

(c) Poliomyelitis 

(d) All of the above 

 

70. Which of the following statements about organ harvesting is false? 

(a) Cornea within 6 hours of death 

(b) Bone within 24 hours of death 

(c) Skin within 24 hours of death 

(d) Blood vessels within 72 hours of death 

 

71. All of the following about eruption of 3
rd

 molar is true except – 

(a) Erupts between 17-25 years 

(b) If 3
rd

 molar erupted age > 14 years  

(c) if all four 3
rd

 molar erupted  age is > 20 years 

(d) none 

 

72. At puberty the ratio between the length of cervix and the length of  body of uterus 

becomes – 

(a) 1:2. 

(b) 1:3. 

(c) 2:3 

(d) 2:1 

 

73. The patient lies on her left side with right knee and thigh drawn up towards the chest is 

called as  – 

(a) Prone position 

(b) Lithotomy position 

(c) Sim’s position 

(d) None of the above 

 

74. The Rubin test is also called as – 

(a) Cryosurgery 

(b) Hysterosalpingography 

(c) Perinoplasty 

(d) Dilatation & Insufflation 

 

75. The incidence of  antepartum haemorrhage is found in  – 

(a) 60% cases of multiparous women 

(b) 70% cases of multiparous women 

(c) 90% cases of multiparous women 

(d) 80% cases of multiparous women 
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76. The normal labour is characterized by – 

(a) Progressive dilatation of cervix and descent of the fetal head 

(b) Progressive alternate contraction and dilatation of uterus and descent of the 

fetal head 

(c) Progressive contraction of cervix and descent of the fetal head 

(d) Progressive dilatation of uterus and descent of the fetal head 
 

77. Apgar score rating  of 4 – 6  in evaluation of cardio – pulmonary status in the newborn 

baby includes – 

(a) Irregular breathing 

(b) Pink 

(c) Regular breathing 

(d) Heart rate > 100  
 

78. The potent chemotactic substance is  – 

(a) LT – B4. 

(b) ICAM - 1. 

(c) Chloride. 

(d) None of the above 
 

79. Chikungunya was first found in human being of  – 

(a) India 

(b) America 

(c) Africa 

(d) Netherland 

 

80. Verruca vulgaris is characterized by – 

(a) Multiple warts, firm, elevated papules and caused by HPV – 1 and 2. 

(b) Single warts, hard, elevated macules and caused by HPV – 10. 

(c) Multiple warts, soft, flat papules and caused by HPV. 

(d) Multiple warts, soft, slightly elevated macules and caused by HPV – 1                

and HPV - 2. 
 

81. Lymphopenia, selective T cell deficiency, increased spontaneous secretion of Ig and 

polyclonal action of B cells are  the characteristic features of – 

(a) Lymphatic Leukaemia 

(b) AIDS 

(c) Hodgkin disease 

(d) None of the above 

 

82. Pneumonia is caused by – 

(a) Adenovirus types 3 and 7 

(b) Adenovirus types 4, 7 and 21 

(c) Adenovirus types 3, 7 and 14 

(d) Adenovirus types 19 and 37 
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83. Cloudy swelling occurs in all the organs except  – 

(a) Pancreas 

(b) Liver 

(c) Kidney 

(d) Lung 

 

84. Reticulocyte count  – 

(a) diminishes in bone marrow hypoplasia 

(b) increases in haemolytic anaemia 

(c) both 

(d) none 

 

85. The most important muscle of inspiration is – 

(a) diaphragm 

(b) sternomastoid 

(c) scalenus anticus 

(d) None 

 

86. The type of Interstitial tissue of renal tubules of medulla of kidney secretes  – 

(a) Renin 

(b) Prostaglandins 

(c) Erhthtopoietin 

(d) Serotonin 

 

87. Segmentation movements of alimentary canal is – 

(a) Neurogenic 

(b) Myogenic 

(c) Chemical 

(d) None of the above 

 

88. Those leprosy cases showing nerve involvement without any skin lesion is called as  – 

(a) Indeterminate type of leprosy 

(b) Tuberculoid  type of leprosy 

(c) Pure neuritic type of leprosy 

(d) Borderline  type of leprosy 

 

89. Measles is caused by – 

(a) Paramyxovirus 

(b) Myxovirus 

(c) Rhinovirus 

(d) None of the above 
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90. Reservoir of infection of Plague is – 

(a) Mice 

(b) Fly 

(c) Insects 

(d) Pig 

 

91. Size of globules vary from – 

(a) 8 – 80 

(b) 8 – 90 

(c) 7 – 80 

(d) 8- 85 

 

92. Ophthalmia neonatorum occurs in new born  –  

(a) First 4 weeks of life 

(b) First 5 weeks of life 

(c) First 3 weeks of life 

(d) First 6 weeks of life 

 

93. The most common cause of disturbed behavior is  –  

(a) Hallucination 

(b) Delirium 

(c) Delusions 

(d) Loneliness 

 

94. Individuals are susceptible to mycobacterial infections due to defects in –  

(a) T lymphocyte 

(b) IgG. 

(c) Cytokines 

(d) Neutrophils 

 

95. Preparation of 50 Millesimal potency mentioned in aphorism – 

(a) 250 of Organon of medicine 

(b) 270 of Organon of medicine 

(c) 260 of Organon of medicine 

(d) 271 of Organon of medicine 

 

96. Indisposition includes all except –  

(a) Complaints of one or more trivial symptoms. 

(b) Requires serious medical aid  

(c) Observed a short time. 

(d) Not to consider as a fully developed disease. 
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97. According to Stuart Close the meaning of idiosyncrasy is all except –  

(a) a habit or quality of the organism 

(b) inherited or acquired 

(c) individual morbidity susceptible to some agent 

(d) a peculiar corporeal constitution 

 

98. Hahnemann’s idea on massage is applicable in the following conditions except–  

(a) suffers from loss of flesh 

(b) abnormal sensations 

(c) weakness of digestion 

(d) lack of sleep 

 

99. Chest sore, bruised < from touch, motion or turning the body is the characteristic 

          symptoms of  –  

(a) Rhus toxicodendron 

(b) Bryonia alba 

(c) Ranunculus bulbosus 

(d) Hepar sulphuris 

 

100. Which may be given after abuse of Magnesia, when or without rhubarb, of stools are 

sour ?  –  

(a) Rheum. 

(b) Chamomilla. 

(c) Cina. 

(d) Magnesia carbonicum. 

 

***** 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


